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FLUENCY 1 

Use the sentence stems to compare these TV times. 

 

____________ is longer than ____________. 

____________ is shorter than ____________. 

____________ is the same duration as ____________. 

FLUENCY 2 

Using the timetable above to answer these questions. 

 

Which is the longest TV programme? 

Which is the shortest TV programme? 

Which programmes last exactly 1 hour? 

 7:00 pm  7:30 pm 8:00 pm  8:30 pm 9:00 pm  

BCD 1 Flawless Dancing The Blue Line 

BCD 2 Prenton Street Red Stars West Enders 

BCD 3  Fast Cars The League Cup Semi-Final from Wembley 
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Here are 4 times from Darcey’s watch throughout the day... 

 

 

 

 

Time 1 Time 2 Time 3 Time 4 

FLUENCY 3 

Use the sentence stems to compare these TV times. 

 

Time 1 to Time 2 =  approximately ____ minutes. 

Time 2 to Time 3 =  approximately ____ minutes. 

Time 3 to Time 4 =  approximately ____ minutes. 

FLUENCY 4 

Use the symbols < > = to compare the above times 

 

Time 1 to Time 2                 Time 3 to Time 4 

Time 2 to Time 3                 Time 3 to Time 4 

Time 1 to Time 3                 Time 2 to Time 4 
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REASONING 3 

2 pupils are timing themselves balancing on one leg... 

 

 

 

                                     

 

 

                                                                                                                    

Is Marlon correct? Explain why! 
 

REASONING 1 

True or False? 

 

 

 

 

 

 

 

The journey from Pickup Street to Park Road is shorter 

than the journey from Park Road to High Street. 

 

REASONING 2 

Convince me! 

 

 

Use a timeline to prove your answer.  

 Journey Start 

Bus Station 8:15  

Pickup Street 8:23 

Park Road 8:48 

High Street 9:18 

My time is 5 and one tenth 

of a second! J
e

rr
y
 

M
a

rlo
n

 

1:46pm to 3:26pm 4:38pm to 6:18pm = 

My time is 5 and two tenths 

of a second so I win! 

REASONING 4 

Spot and correct the mistake! 

 

 

 

 If the duration between the clocks is the same,         

the time on the 3rd clock will be 5 minutes to 6. 
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PROBLEM SOLVING 1 

Jane is taking part in a treasure hunt competition. 

Which is the fastest route to the treasure? 
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